International Journal of Mathematics Atud its Applications

# A Generalized Subclass of Close-to-Convex Functions 

Gagandeep Singh ${ }^{1, *}$ and Gurcharanjit Singh ${ }^{2}$<br>1 Department of Mathematics, Majha College For Women, Tarn-Taran, Punjab, India.<br>2 Department of Mathematics, Guru Nanak Dev University College, Chungh, Tarn-Taran, Punjab, India.


#### Abstract

The purpose of the present paper is to study a new generalized subclass of close-to-convex functions defined by subordination and we obtain coefficient estimates and also prove distortion and radii theorems for this class. Relevant connections of the results presented here with various known results are briefly indicated. MSC: $30 \mathrm{C} 45,30 \mathrm{C} 50$.


Keywords: Subordination, Univalent functions, Analytic functions, Convex functions, Close-to-convex functions.
(c) JS Publication.

## 1. Introduction

Let $A$ denote the class of functions of the form

$$
\begin{equation*}
f(z)=z+\sum_{n=2}^{\infty} a_{n} z^{n} \tag{1}
\end{equation*}
$$

which are analytic in the unit disc $E=\{z:|z|<1\}$. Let $U$ be the class of bounded functions

$$
w(z)=\sum_{n=1}^{\infty} c_{n} z^{n}
$$

which are regular in the unit disc and satisfying the conditions $w(0)=0$ and $|w(z)|<1$ in $E$. For functions $f$ and $g$ analytic in $E$, we say that $f$ is subordinate to $g$, denoted by $f \prec g$, if there exists a Schwarz function $w(z) \in U$, w $(z)$ analytic in $E$ with $w(0)=0$ and $|w(z)|<1$ in $E$, such that $f(z)=g(w(z))$. By $S, S^{*}$ and $C$ we denote subclass of $A$, consisting of functions which are respectively univalent, starlike and convex in $E$. Let $C^{\prime}$ denote the class of functions $f(z) \in A$ of the form (1) and satisfying the conditions $\operatorname{Re}\left(\frac{z f^{\prime}(z)}{g(z)}\right)>0$, where $g(z)=z+\sum_{n=2}^{\infty} b_{n} z^{n}$ is convex in $E$. The class $C^{\prime}$ was introduced by Selvaraj [4] and studied further by Abdel-Gawad and Thomas [1]. Let $C^{\prime}(A, B)$ denote the class of functions $f(z) \in A$ of the form (1) and satisfying the conditions

$$
\operatorname{Re}\left(\frac{z f^{\prime}(z)}{g(z)}\right) \prec \frac{1+A z}{1+B z}, \quad-1 \leq B<A \leq 1
$$

[^0]where $3 b_{3}=p_{2}+p_{1} d_{2}+d_{3}$ is convex in $E$. The class $C^{\prime}(A, B)$ was introduced and studied by Mehrok and Singh [3]. In particular $C^{\prime}(1,-1) \equiv C^{\prime}$. Let $K_{C}^{\prime}(\alpha)$ denote the class of functions $f(z) \in A$ of the form (1) and satisfying the conditions
$$
\operatorname{Re}\left(\frac{f^{\prime}(z)}{g^{\prime}(z)}\right)>\alpha, \quad z \in E
$$
where $g(z)=z+\sum_{n=2}^{\infty} b_{n} z^{n}$ belongs to $C^{\prime}$. The class $K_{C}^{\prime}(\alpha)$ was introduced and studied by Stelin and Selvaraj [6]. Let $K_{C}^{\prime}(A, B)$ denote the class of functions $f(z) \in A$ of the form (1) and satisfying the conditions
$$
\frac{f^{\prime}(z)}{g^{\prime}(z)} \prec \frac{1+A z}{1+B z}, \quad-1 \leq B<A \leq 1, \quad z \in E
$$
where $g(z)=z+\sum_{n=2}^{\infty} b_{n} z^{n}$ belongs to $C^{\prime}$. The class $K_{C}^{\prime}(A, B)$ was introduced and studied by Singh and Singh [5]. In particular, $K_{C}^{\prime}(1-2 \alpha,-1) \equiv K_{C}^{\prime}(\alpha)$, the class studied by Stelin and Selvaraj [6]. Also $K_{C}^{\prime}(1,-1) \equiv K_{C}^{\prime}$. Motivated by above defined classes, we introduce the following subclass of analytic functions. Let $K_{C}^{\prime}(A, B ; C, D)$ denote the class of functions $f(z) \in A$ of the form (1) and satisfying the conditions
$$
\frac{f^{\prime}(z)}{g^{\prime}(z)} \prec \frac{1+C z}{1+D z}, \quad z \in E
$$
where $g(z)=z+\sum_{n=2}^{\infty} b_{n} z^{n}$ belongs to $C^{\prime}(A, B)$ and $-1 \leq D \leq B<A \leq C \leq 1$. The following observations are obvious: (1). $K_{C}^{\prime}(1,-1 ; A, B) \equiv K_{C}^{\prime}(A, B)$.
(2). $K_{C}^{\prime}(1,-1 ; 1-2 \alpha,-1) \equiv K_{C}^{\prime}(\alpha)$.

By definition of subordination it follows that $f(z) \in K_{C}^{\prime}(A, B ; C, D)$ if and only if $f(z)$ can be represented in the form

$$
\begin{equation*}
\frac{f^{\prime}(z)}{g^{\prime}(z)}=\frac{1+C w(z)}{1+D w(z)}=P(z), w(z) \in U,-1 \leq D \leq B<A \leq C \leq 1, z \in E \tag{2}
\end{equation*}
$$

To avoid repetition, we lay down once for all that $-1 \leq D \leq B<A \leq C \leq 1, z \in E$. We study the class $K_{C}^{\prime}(A, B ; C, D)$ and obtain coefficient estimates, distortion theorems and radius of convexity.

## 2. Preliminary Results

We need the following lemmas:
Lemma 2.1 ([2]). Let

$$
\begin{equation*}
\frac{f^{\prime}(z)}{g^{\prime}(z)}=P(z)=1+\sum_{n=1}^{\infty} p_{n} z^{n} \tag{3}
\end{equation*}
$$

then

$$
\begin{equation*}
\left|p_{n}\right| \leq(C-D), \quad n \geq 1 . \tag{4}
\end{equation*}
$$

The bounds are sharp, being attained for the functions

$$
P_{n}(z)=\frac{1+C \delta z^{n}}{1+D \delta z^{n}},|\delta|=1 .
$$

Lemma 2.2 ([3]). If $g(z)=z+\sum_{n=2}^{\infty} b_{n} z^{n} \in C^{\prime}(A, B)$, then

$$
\left|b_{n}\right| \leq \frac{(n-1)(A-B)}{n}+\frac{1}{n}, n \geq 2 .
$$

The bounds are sharp being attained for the function

$$
g^{\prime}(z)=\frac{1}{\left(1-\delta_{1} z\right)^{2}} \frac{1+A \delta_{2} z^{n-1}}{1+B \delta_{2} z^{n-1}},\left|\delta_{1}\right|=1,\left|\delta_{2}\right|=1 .
$$

## 3. Coefficient Estimates

Theorem 3.1. If $f(z) \in K_{C}^{\prime}(A, B ; C, D)$, then

$$
\begin{equation*}
\left|a_{n}\right| \leq \frac{(n-1)}{n}\left[(C-D)+(A-B)+\frac{(C-D)(A-B)(n-2)}{2}\right]+\frac{1}{n}, n \geq 2 . \tag{5}
\end{equation*}
$$

The bounds are sharp.
Proof. As $f(z) \in K_{C}^{\prime}(A, B ; C, D)$, therefore (2) and (3) gives

$$
\begin{equation*}
1+\sum_{n=2}^{\infty} n a_{n} z^{n-1}=\left(1+\sum_{n=2}^{\infty} n b_{n} z^{n-1}\right)\left(1+\sum_{n=1}^{\infty} p_{n} z^{n}\right) \tag{6}
\end{equation*}
$$

Equating the coefficients of $z^{n-1}$ in (6), we have

$$
\begin{equation*}
n a_{n}=n b_{n}+(n-1) b_{n-1} p_{1}+(n-2) b_{n-2} p_{2}+\ldots+2 b_{2} p_{n-2}+p_{n-1} . \tag{7}
\end{equation*}
$$

Therefore using (4),

$$
\begin{equation*}
n\left|a_{n}\right| \leq n\left|b_{n}\right|+(C-D)\left[(n-1)\left|b_{n-1}\right|+(n-2)\left|b_{n-2}\right|+\ldots+2\left|b_{2}\right|+1\right] . \tag{8}
\end{equation*}
$$

Using Lemma 2.2 in (8), it yields

$$
\left|a_{n}\right| \leq \frac{(n-1)}{n}\left[(C-D)+(A-B)+\frac{(C-D)(A-B)(n-2)}{2}\right]+\frac{1}{n} .
$$

For $n=2$, equality signs in (5) hold for the functions $f_{n}(z)$ defined by

$$
\begin{equation*}
f_{n}^{\prime}(z)=\frac{1}{\left(1-\delta_{1} z\right)^{2}} \frac{1+A \delta_{2} z^{n-1}}{1+B \delta_{2} z^{n-1}}\left(\frac{1+C \delta_{3} z^{n}}{1+D \delta_{3} z^{n}}\right),\left|\delta_{1}\right|=1,\left|\delta_{2}\right|=1,\left|\delta_{3}\right|=1 . \tag{9}
\end{equation*}
$$

On replacing $A$ by $1, B$ by $-1, C$ by $A$ and $D$ by $B$, Theorem 3.1 gives the following result proved by Singh and $\operatorname{Singh}[5]$ :

Corollary 3.2. If $f(z) \in K_{C}^{\prime}(A, B)$, then

$$
\left|a_{n}\right| \leq \frac{(2 n-1)}{n}+\frac{(A-B)(n-1)^{2}}{n}, n \geq 2 .
$$

On replacing $A$ by $1, B$ by $-1, C$ by $1-2 \alpha$ and $D$ by -1 in Theorem 3.1, the following result due to Stelin and Selvaraj [6] is obvious:

Corollary 3.3. If $f(z) \in K_{C}^{\prime}(\alpha)$, then

$$
\left|a_{n}\right| \leq \frac{2}{n}(1-\alpha)(n-1)^{2}+\frac{(2 n-1)}{n}, n \geq 2 .
$$

On replacing $A$ by $1, B$ by $-1, C$ by 1 and $D$ by -1 , Theorem 3.1 gives the following result:
Corollary 3.4. If $f(z) \in K_{C}^{\prime}$, then

$$
\left|a_{n}\right| \leq \frac{2 n^{2}-2 n+1}{n}, n \geq 2 .
$$

Theorem 3.5. If $f(z) \in K_{C}^{\prime}(A, B ; C, D)$, then

$$
\begin{align*}
\left|a_{2}\right| & \leq \frac{1}{2}[(C-D)+(A-B)+1]  \tag{10}\\
\left|a_{3}\right| & \leq \frac{1}{3}[(C-D)(A-B+2)+2(A-B)+1] . \tag{11}
\end{align*}
$$

Proof. Since $g(z)=z+\sum_{n=2}^{\infty} b_{n} z^{n} \in C^{\prime}(A, B)$, it follows that

$$
\begin{equation*}
z g^{\prime}(z)=q(z) P(z), q(z) \in C, \tag{12}
\end{equation*}
$$

where

$$
q(z)=z+\sum_{n=2}^{\infty} d_{n} z^{n} .
$$

Also $P(z)=1+\sum_{n=1}^{\infty} p_{n} z^{n}$, so (12) yields

$$
\begin{aligned}
& 2 b_{2}=p_{1}+d_{2}, \\
& 3 b_{3}=p_{2}+p_{1} d_{2}+d_{3} .
\end{aligned}
$$

As $f(z) \in K_{C}^{\prime}(A, B ; C, D)$, we have

$$
\begin{equation*}
f^{\prime}(z)=g^{\prime}(z) Q(z) \tag{13}
\end{equation*}
$$

where $Q(z)=1+\sum_{n=1}^{\infty} q_{n} z^{n}$. Equating coefficients in (13), we get

$$
\begin{align*}
& 2 a_{2}=q_{1}+2 b_{2},  \tag{14}\\
& 3 a_{3}=q_{2}+2 b_{2} q_{1}+3 b_{3} . \tag{15}
\end{align*}
$$

The results (10) and (11) follows on using classical inequalities $\left|p_{1}\right| \leq(A-B),\left|p_{2}\right| \leq(A-B),\left|q_{1}\right| \leq(C-D),\left|q_{2}\right| \leq$ ( $C-D),\left|d_{1}\right| \leq 1$ and $\left|d_{2}\right| \leq 1$ in (14) and (15).

On replacing $A$ by $1, B$ by $-1, C$ by $A$ and $D$ by $B$, Theorem 3.2 gives the following result:
Corollary 3.6. If $f(z) \in K_{C}^{\prime}(A, B)$, then

$$
\begin{aligned}
& \left|a_{2}\right| \leq \frac{1}{2}[(A-B)+3] \\
& \left|a_{3}\right| \leq \frac{1}{3}[4(A-B)+5] .
\end{aligned}
$$

On replacing $A$ by $1, B$ by $-1, C$ by $1-2 \alpha$ and $D$ by -1 in Theorem 3.1, the following result due to Stelin and Selvaraj [6] is obvious:

Corollary 3.7. If $f(z) \in K_{C}^{\prime}(\alpha)$, then

$$
\begin{aligned}
& \left|a_{2}\right| \leq \frac{5-2 \alpha}{2} \\
& \left|a_{3}\right| \leq \frac{13-8 \alpha}{3}
\end{aligned}
$$

On replacing $A$ by $1, B$ by $-1, C$ by 1 and $D$ by -1 , Theorem 3.1 gives the following result:
Corollary 3.8. If $f(z) \in K_{C}^{\prime}$, then

$$
\begin{aligned}
& \left|a_{2}\right| \leq \frac{5}{2} \\
& \left|a_{3}\right| \leq \frac{13}{3}
\end{aligned}
$$

## 4. Distortion Theorems

Theorem 4.1. If $f(z) \in K_{C}^{\prime}(A, B ; C, D)$, then for $|z|=r, 0<r<1$, we have

$$
\begin{equation*}
\frac{(1-C r)(1-A r)}{(1-D r)(1-B r)(1+r)} \leq\left|f^{\prime}(z)\right| \leq \frac{(1+C r)(1+A r)}{(1+D r)(1+B r)(1-r)} \tag{16}
\end{equation*}
$$

and

$$
\begin{equation*}
\int_{0}^{r} \frac{(1-C t)(1-A t)}{(1-D t)(1-B t)(1+t)} d t \leq|f(z)| \leq \int_{0}^{r} \frac{(1+C t)(1+A t)}{(1+D)(1+B t)(1-t)} d t \tag{17}
\end{equation*}
$$

Estimates are sharp.

Proof. From (2), we have

$$
\begin{equation*}
\left|f^{\prime}(z)\right|=\left|g^{\prime}(z)\right|\left|\frac{1+C w(z)}{1+D w(z)}\right|, w(z) \in U \tag{18}
\end{equation*}
$$

It is easy to show that the transformation

$$
\frac{f^{\prime}(z)}{g^{\prime}(z)}=\frac{1+C w(z)}{1+D w(z)}
$$

maps $|w(z)| \leq r$ onto the circle

$$
\left|\frac{f^{\prime}(z)}{g^{\prime}(z)}-\frac{1-C D r^{2}}{1-D^{2} r^{2}}\right| \leq \frac{(C-D) r}{\left(1-D^{2} r^{2}\right)},|z|=r
$$

This implies that

$$
\begin{equation*}
\frac{1-C r}{1-D r} \leq\left|\frac{1+C w(z)}{1+D w(z)}\right| \leq \frac{1+C r}{1+D r} \tag{19}
\end{equation*}
$$

Also it was proved by Mehrok and Singh [3] that for $g(z) \in C^{\prime}(A, B)$,

$$
\begin{equation*}
\frac{(1-A r)}{(1-B r)(1+r)} \leq\left|g^{\prime}(z)\right| \leq \frac{(1+A r)}{(1+B r)(1-r)} \tag{20}
\end{equation*}
$$

(18) together with (19) and (20) yields (16). On integrating (16), (17) follows. For $n=2$, the function $f_{n}(z)$ defined by (9), gives sharp estimates.

On replacing $A$ by $1, B$ by $-1, C$ by $A$ and $D$ by $B$, Theorem 3.1 gives the following result proved by Singh and Singh [5]:

Corollary 4.2. If $f(z) \in K_{C}^{\prime}(A, B)$, then for $|z|=r, 0<r<1$, we have

$$
\frac{(1-r)(1-A r)}{(1-B r)(1+r)^{2}} \leq\left|f^{\prime}(z)\right| \leq \frac{(1+r)(1+A r)}{(1+B r)(1-r)^{2}}
$$

and

$$
\int_{0}^{r} \frac{(1-t)(1-A t)}{(1-B t)(1+t)^{2}} d t \leq|f(z)| \leq \int_{0}^{r} \frac{(1+t)(1+A t)}{(1+B t)(1-t)^{2}} d t
$$

On replacing $A$ by $1, B$ by $-1, C$ by $1-2 \alpha$ and $D$ by -1 , Theorem 4.1 gives the following result due to Stelin and Selvaraj [6]:

Corollary 4.3. If $f(z) \in K_{C}^{\prime}(\alpha)$, then

$$
\frac{(1-r)(1-(1-2 \alpha) r)}{(1+r)^{3}} \leq\left|f^{\prime}(z)\right| \leq \frac{(1+r)(1+(1-2 \alpha) r)}{(1-r)^{3}}
$$

and

$$
(1-2 \alpha) \log (1+r)-\frac{(6 \alpha-4)}{1+r}-\frac{(2-2 \alpha)}{(1+r)^{2}}-(2-4 \alpha) \leq|f(z)| \leq-(1-2 \alpha) \log (1-r)+\frac{(6 \alpha-4)}{1-r}+\frac{(2-2 \alpha)}{(1-r)^{2}}+(2-4 \alpha)
$$

for $|z|=r, 0<r<1, z \in E$.

For $C=1, D=-1, A=1, B=-1$, Theorem 4.1 gives the following result:

Corollary 4.4. If $f(z) \in K_{C}^{\prime}$, then

$$
\frac{(1-r)^{2}}{(1+r)^{3}} \leq\left|f^{\prime}(z)\right| \leq \frac{(1+r)^{2}}{(1-r)^{3}}
$$

## 5. Radius of Convexity

Theorem 5.1. Let $f(z) \in K_{C}^{\prime}(A, B ; C, D)$, then $f(z)$ is convex in $|z|<r_{0}$, where $r_{0}$ is the smallest positive root in ( 0,1 ) of

$$
\begin{align*}
{[(C D-C+D) A B} & +(B-A) C D] r^{4}+2[A B D-A C D+B C-A D] r^{3} \\
& +[C D-A C-3 A D+A B+B C-B D-A+B-C+D] r^{2}+(2 D-2 A) r+1=0 \tag{21}
\end{align*}
$$

Results are sharp.

Proof. As $f(z) \in K_{C}^{\prime}(A, B ; C, D)$, we have

$$
\begin{equation*}
f^{\prime}(z)=g^{\prime}(z) P(z) \tag{22}
\end{equation*}
$$

After differentiating (22) logarithmically, we get

$$
\begin{equation*}
1+\frac{z f^{\prime \prime}(z)}{f^{\prime}(z)}=1+\frac{z g^{\prime \prime}(z)}{g^{\prime}(z)}+\frac{z P^{\prime}(z)}{P(z)} \tag{23}
\end{equation*}
$$

It was proved by Mehrok and Singh [3] that for $g \in C^{\prime}(A, B)$, we have

$$
R e\left(1+\frac{z g^{\prime \prime}(z)}{g^{\prime}(z)}\right) \geq \frac{1-2 A r+(A B-A+B) r^{2}}{(1+r)(1-A r)(1-B r)}
$$

Also from (19), we have

$$
\left|\frac{1+C w(z)}{1+D w(z)}\right|=|P(z)| \leq \frac{1+C r}{1+D r}
$$

So

$$
\left|\frac{z P^{\prime}(z)}{P(z)}\right| \leq \frac{r(C-D)}{(1+C r)(1+D r)}
$$

Therefore (23) yields,

$$
\begin{aligned}
\operatorname{Re}\left(1+\frac{z f^{\prime \prime}(z)}{f^{\prime}(z)}\right) & \geq \operatorname{Re}\left(1+\frac{z g^{\prime \prime}(z)}{g^{\prime}(z)}\right)-\left|\frac{z p^{\prime}(z)}{p(z)}\right| \\
& \geq \frac{1-2 A r+(A B-A+B) r^{2}}{(1+r)(1-A r)(1-B r)}-\frac{r(C-D)}{(1+C r)(1+D r)} \\
& {[(C D-C+D) A B+(B-A) C D] r^{4}+2[A B D-A C D+B C-A D] r^{3} } \\
& =\frac{+[C D-A C-3 A D+A B+B C-B D-A+B-C+D] r^{2}+(2 D-2 A) r+1}{(1+r)(1-A r)(1-B r)(1+C r)(1+D r)}
\end{aligned}
$$

Hence $f(z)$ is convex in $|z|<r_{0}$, where $r_{0}$ is the smallest positive root in $(0,1)$ of

$$
\begin{aligned}
{[(C D-C+D) A B+(B-A) C D] r^{4} } & +2[A B D-A C D+B C-A D] r^{3} \\
& +[C D-A C-3 A D+A B+B C-B D-A+B-C+D] r^{2}+(2 D-2 A) r+1=0
\end{aligned}
$$

On replacing $A$ by $1, B$ by $-1, C$ by $A$ and $D$ by $B$, Theorem 5.1 gives the following result due to Singh and Singh [5]:

Corollary 5.2. Let $f(z) \in K_{C}^{\prime}(A, B)$, then $f(z)$ is convex in $|z|<r_{1}$, where $r_{1}$ is the smallest positive root in $(0,1)$ of

$$
(A-B-3 A B) r^{3}+(A B-3 A-3 B) r^{2}+(2 B-3) r+1=0
$$

On replacing $A$ by $1, B$ by $-1, C$ by $1-2 \alpha$ and $D$ by -1 , Theorem 5.1 gives the following result due to Stelin and Selvaraj [6]:

Corollary 5.3. If $f(z) \in K_{C}^{\prime}(\alpha)$, then $f(z)$ is convex in $|z|<r_{2}$, where $r_{2}$ is the smallest positive root in $(0,1)$ of the equation

$$
(8 \alpha-5) r^{2}-4 r+1=0
$$

For $A=1, B=-1, C=1, D=-1$, Theorem 5.1 gives the following result:

Corollary 5.4. Let $f(z) \in K_{C}^{\prime}$, then $f(z)$ is convex in $|z|<\frac{1}{5}$.

## References

[1] H.R.Abdel-Gawad and D.K.Thomas, A subclass of close-to-convex functions, Publications De LInstitut Mathmatique, Nouvelle srie tome, $49(63)(1991), 61-66$.
[2] R.M.Goel and Beant Singh Mehrok, A subclass of univalent functions, Houstan J. Math., 8(3)(1982), 343-357.
[3] B.S.Mehrok and Gagandeep Singh, A subclass of close-to-convex functions, Int. J. Math. Anal., 4(27)(2010), 1319 -1327.
[4] C.Selvaraj, A subclass of close-to-convex functions, South East Asian Bull. of Math., 28(2004), 113-123.
[5] Gagandeep Singh and Gurcharanjit Singh, A subclass of close-to-convex functions subordinate to a bilinear transformation, Int. J. Math. Anal., 11(5)(2017), 247-253.
[6] S.Stelin and C.Selvaraj, On a generalized class of close-to-convex functions of order $\alpha$, Int. J. Pure and App. Math., 109(5)(2016), 141-149.


[^0]:    * E-mail: kamboj.gagandeep@yahoo.in

